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MENTAL ABILITY TEST / wengdlmes Csitey

Direction : (Questions 1 to 10)

In each of the following questions,
the numbers/letters are arranged based on
some pattern or principle. Choose the correct
answer for the term marked by the symbol

i)

1. 0,3,9 18, 30, 7
(1) 48 ) 42
3) 36 (4) 45

2. 6,918, 21,30,?

(1) 38 (2 33
(3) 36 (4) 39
3. /8\ /9\ ?
4 16 3 % 18
(1) 16 (2) 10
(3) 9 4) 12
4 5 1 3 3
8 | 10 | 8
35 | 27 | 2
(1) 18 (2) 40
3) 21 4) 24
5 4 5 3
6 32({ 64 1609 5
5 3 7
(1) 86 (2) 138
3) 76 4) 120

audlpann eflerr cremt 1 (pser 10 cuany

Epsoranb damssafled erawmser [
T(pSEIEHET e GHUEL L afdluflariig
auflenslinMssiul_Herarer. GCgemellseml
() @uiul@erer QLsdnE sfwrer
aftencanir Comrblaihissain.
1. 0,3,9 18, 30, ?

(1) 48 ) 42

3) 36 4) 45

2. 6,918, 21,30, ?

(1) 38 (2) 33
(3) 36 4) 39
4 16 3 27 8 18
1) 16 2) 10
3) 9 ) 12
4 5 1 3| 3
8 | 10| 8
35 | 27 | 2
1) 18 2) 40
3) 21 4) 24
5 4 5 3
6 30 69 5
5 3 7
1) 86 2) 138
B) 76 4) 120
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6. 8 7 9 5. 8 7 9
2| 66 33| 4 |45 ? |6 2| 66 |33 44 |45 2
9 8 11 9 8 11
1) 22 (2) 88 1) 22 (2) 88
(3) 69 (4) 153 (3) 69 (4) 153
7. 2 10 5 17 26 50 7. 2 0 5 17 26 50
26 37 ? ZYé j ?
(1) 82 2) 81 (1) 82 (2) 81
(3) 48 (4) 26 (3) 48 4) 26
8 [125 51 56 5| % 123 51 56 45
71 71 111
21 18 39 ? 21 18 39 ?
(1) 195 () 139 (1) 195 (2) 139
(3) 121 (4) 84 (3) 121 (4) 84

P

(3) 150

116

(4) 128 (3) 150

4

(4) 128

FHE S

Download more model question papers visit www.tnpsctamil.in 2 of 13.




www.tnpsctamil.in

[CODE[ x | 1 [14]

10. How many triangles are there in the given 10. Q&THSsLULHeter euanFUL Gl

figure ? TEHMmaT (PECHTETRIGET 2 cTemen ?
(1) 8 @) 10 1 8 @ 10
(3) 12 @) 11 3) 12 @ 11

Direction : (Questions 11 and 12) (eQerm erer 11 1psed 12 euany)

11. The number of squares in the given figure 1. . Qg THSSILLD6TeT Uyl Lgpﬁ @
is I o eTeT FgITRIGETNET 6T et S

I 5 IS

1 9 (2) 10 M 9 (2 10
(3) 14 4) 12 (3) 14 (4) 12

12. 2%5=83325; 4"6=6410036, 3*7=277649 13, 2*5=83325 ; 4*6 = 6410036, 3*7 = 277649

then 59=____ . eremmey 5*9 = "
(1) 12520681 (2) 1254481 (1) 12520681 (2) 1254481
(3) 25704729 (4) 125604729 (3) 25704729 (4) 125604729
13. Insert the missing number : 13. eNPulL crawenawr GCer&Heb :
3 | 15 3 |15
2 6
25 44T 2 25l ©
?
10 289 2/ 14 10 2289 2 14
7 | 12 ¥ | 92
(1) /625 (2) 125 (1) 625 (2) 125
By 225 (4) 25 (3) 225 (4) 25
5
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14. Which one of the following pairs is
different from other three pairs ?

(1) BFJN : YUQM
(2) EIMQ : VRNJ
3) GLQV:TOJE
(4) KOSW : PLHD

15.  Choose from the given options, the correct
letter-number pair to replace the ? and to

continue the series.

D 21 1 14 R ?
23 F 18 M ?
(1) /10 2) Uy4
3) 3/X 4) 6/U

Directions : (Question numbers 16 to 20)

According to the relevance of three
elements in each question, choose the sets of
elements which exactly fit in one of the
diagrams marked as (A), (B), (C), (D) and (E).

(D0¢_poco@(S)

(A) (B) © O (B
16. Crow : Pigeon : Bird

(1) (B) @ (©

® ) W ®

14. &G Qarhssuul_(erer Gargsafla
opsE  Gemy  LHD  epeTm
Gargsaflad (b5l wrmuBEng

TRTLINSS &TEwT&:

(1) BEJN : YUQM

(2) EIMQ : VRN]
3) GLQV:TOJE
(4) KOSW : PLHD

15. §Cp Gar@ssuul(Herer aflenLsefld
@&mpg Casaralls @Gl (?)
@Lsdne durmsswrear (Fflwmer)
ar(psgl-erenr Camgenu Gsrey Glslg)
Gleuauflengans QgrLis.

N

D 21 I 14 R ?

23 F 18 M \V\?/
1) /10 (2) U/4
(3) 3/X 4) 6/U

aulpep: (ellamm eram 16 wpge 20
aseoy)

ECp Qar@asiiul(Herer eflermésaflem
o Lammsaigerer Ggrirlener Glumm-
831, (A), (B), (C), (D) womd (E) eremeyiin

uLmsefleo GCurmssworear ULios
Cgira] G&ls.
(0¢ pooo @@
(A) (B) © O (B
16. Crow : Pigeon : Bird
(1) (B) 2) (©
3 (4A) 4) (E)
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17. India : Earth : Jupiter 17. India : Earth : Jupiter
1 ©. 2 (A 1 (D) 2) (A)
G & @ (B ¢ ® 4 (B
18. Music : Rhythm : Dance 18. Music : Rhythm : Dance
1) (D) @ (@A) 1 (O @ @
@) (B 4) (B) @) B “4) (B
19. Cells : Tissues : Organs 19. Cells : Tissues : Organs
1 (® @ @) (1) (B) 2 )
@G ® 4) (D) 3 4 O
20. Television : Computer : Typewriter 20. Television : Computer : Typewriter
1) (© 2 O 1 © 2 (@)

(3) &) @ (& G) (&) @ (B

21.  The number opposite to ‘3’ in the given 21. UL gdlaerer LsemLuled 3'- & aSlCr

) 4 @ 5 1 4 @ 5
G 1 @ 2 @) 1 @ 2

7
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22.

23.

24,

If P stands for ‘ +° 22,

Q stands for -’

R stands for " x’

S stands for “ +’, then
2P4Q6R8S1R3Q5PY is :

1) 0 @ -136

Find the odd man out in the series. 23.

64, 71, 80, 91, 104, 119, 135, 155
1) 71 (2) 80

(3) 119 (4) 135

Find the odd figure in the given sequence.  24.

@

P ereig) +’ ereaLd

Q eremmig) ‘—’ erema]id

R eretmiig) ‘ X’ eramaid

S gremg “ +, ereneld @)(HHSTE
2P4Q6RBSIR3Q5P7 ereiLig)l :
1) 0 2) —136
3) —150 4) 2

Qar{H sl (herer Qgmifle

CaumulLeng SIERL_ILITETID STevTd.
64, 71, 80, 91, 104, 119, 135, 155
(1) 71 (2) 80

(3) 119 4) 135

Qa;rr@ésasuul'_(amm Qgrfler Geumi-

UL eng SIEDHL_ITETD HTETsE.
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Complete the series. 25,

0.5, 0.55, 0.65, 0.8, __?
(1) 0.85 2) 0.9
3) 0.95 4) 1.0

A man starts from his house and goes  26.

5 km towards north and turns right and
goes 5 km. Again he goes 5 km to his left
and turns left and goes 15 km further.
Now, in which direction is he from his

house ?
(1) North (2) North-West
(3) East (4) North-East

If AE=C ; H*L=] ; P*T=R then, 27.

JH(L*P) =2
(1) K 2 I
G) L @ N

Choose from the given options, the correct  28.

Letter-Number pair to replace the (?) and
to continue the series .

E H
B K
11 ?
8 5
@ 3 @ 7
3) 2 4) 6

9

[CODE[ X T1 J14]

EC Qar@issuul @erer QGsrManer

L5 Cleiis.

0.5, 0.55, 0.65, 0.8, ?

(1) 0.85 @ 0.9
(3) 0.95 4) 1.0

R@eut gear il yadlmbg el &g
Cprédl 5 &.15. gnpb Geary s
umd Hmo 5 £.8. gipn Qeadpm.
Baw@o QLaypbd 5 8.5, Ceary
LOIUG WD G giumn 15 &.18. gy
Gleemmmed sHCLITE e gear 6L i -
Nmpsl ersHansufled @mliumi ?

1) auLss 2 euLGinhée
B) HpsE 4) e dlpss
AE=C ; H*L=]J ; P*T=R erafle,
J*(L*P) =2

i K 2 I

G) L @ N

G Car@ésuul @erer cllenLgaf-
dlmbg  CGodtells GOl (?)
QL édine Qurmsswrear (sfwrar)
TWsgi-eram Gergenw Gsirey Glauig
Qleueuflangent GsTLirs.

E H
B K
11 ?
8 5
1 3 @ 7
3 2 4) 6

Download more model question papers visit www.tnpsctamil.in 7 of 13.



www.tnpsctamil.in

ICODE[ X [ 1 [14]

29.

30.

31.

32.

If POUND is coded as MLRKA, how will 29.

ENGLISH be coded ?

(1) AKDJEPF (2) BJDIFOE

(3) BKDIFPE (4) BKDIDOE
SHINE, VEM]J], XBQFO, ? 30.
(1) ZXTAS (2) AYUBT

(3) BZVCU 4) WTUAV

The mirror image of the word WEATHER.  31.

(1) MEV.LIHEY
(2) gJaHLAIN
(3) MIATHAR

(4) SIAHTAIIN

Paper : Pen : : Blackboard : . 32.
(1) Teacher (2) Student
(3) Notebook (4) Chalk

10

POUND erampn Gardena MLRKA

carm  GiluRsaTed  GOHSETD,
ENGLISH eremm Ol&me ereueumpm

@hlssLumD ?

(1) AKDJEPF (2) BJDIFOE

(3) BKDIFPE (4) BKDIDOE
SHINE, VEMJJ, XBQFO, ?

(1) ZXTAS (2) AYUBT

(3) BzVCU 4) WTUAV
WEATHER eraTm  Glamevedl e

samenrig uiled e GbuLb.
() MEV1IHIA
(2) SJdHLAGW
(3) MHATHAR

4) JHHTAIW

Paper : Pen : : Blackboard : _
(1) Teacher (2) Student
(3) Notebook (4) Chalk
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Direction : (Questions 33 to 39)

In the following diagram Rectangle

represents women, Circle represents urban,

Triangle represents Post Graduates and

Square represents librarians.

33.

34.

35,

36.

10

9
/5 1D
14 8)

11

Who among the following is a Post
Graduate who is not an urban resident ?
(1) 6 2) 7
3¢) 11 (1) 20

Who among the following is a Woman
Librarian, who is neither post graduate
nor belongs to urban area ?
®n 9 )
@) 6 (4)

15
10

Who among the following is a woman,
urban and also a librarian but not a post

graduate ?
(1) 15 (2) 14
(@) 8 4) 12

Who among the following is neither a
librarian nor a post graduate but is urban

and not a woman ?

(2) 5

D 4
8 4) 12

@)

11

[CODE] X [ 1 | 14|

auflapenm:(eflenr erent 33 (WHe» 39 euanr)

AETIIEAh)

&G Qar@ssiiu@erer UL g6

QuewsemeTiyd, 6L D

B&TUDSNGW| D, (PECETaTD (PSHSMQ
ulLgrflgamaenud, FHITD HIOSTSEMETLD

wepGuw @Ghlsdsnmer.

33.

34.

35.

36.

9
/5 |
-
6
13 16
/ ’ \
&G Car(esliulLalis@hear eTeuT
B&T QUTELIDTS (pglsEena LI L Smfl?

1) 6 2 7
3) 11 ) 20

10
14

11

EGp Car@&slul Lefs@her ereuf

B&TEmsE FTIHHTTS, WS
UL sTH Sieveors GlLRT Hresi ?

1 9 2 15

(3) 6 @ 10

&G QarHssiiul L eurg@Ener ereuf
B&T eump GlUem HIavs( T, <DpemTed ieu
PpgIsmO LILLgTT Gldeme ?

M 15 @ 14

(3) 8 @ 12

EGY Qar@sslul L euirgEner ereur
BIQOS(HD D6, (PGIGema UL L -
STHALLD AO® YT, FHTHDSE
Carpgeur, Coab <jeul Cluemr o,
(1) 4 @ 5
(3) 8 (4) 12
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37.

38.

39.

40.

41,

42,

®

Who among the following is only a
librarian but not a woman nor urban
resident and not a post graduate ?

1 9 2) 10
11 ) 16

Who among the following is a man, urban
resident and also a librarian ?

(1 8 (2). 9
3 12 (4) 15

Who among the following is a post
graduate woman who comes from urban

area ?
(1) 6 (2) 14
(3) 13 4 7

351 means “Students like maths” ; 197
means “We are students” and 748 means
“They are parents”. The digit for “We”
is:

1) 4

@ 9 4) 5

If ‘BROTHER' is 86 ; ‘FATHER’ is 58 and

‘SISTER’ is 90 then ‘MOTHER' is
1) 83 @) 73
@) 79 (4) 52

If fifth day of a month is four days earlier
than Wednesday, what day will it be on
Twenty eighth day of the month ?

(1)
3)

Sunday (2)

(4)

Monday

Tuesday Wednesday

12

38.

39.

40.

41.

42,

&G QaTR&sILL L euTsHEHET 6TauT
QueT Soars, bErsamss CeibdTTs
(WpgIsame UL LgTHLOTs HIewst?
1 9 @) 10

@) 11 @) 16

&G CQarP&sLl L eUTS@EReT cTeur
B&T QUMD <Y, HIe0&T?

1 8 @ 9

@) 12 4) 15

ECp Car(ssliul Leufs@rer ereui
BT UTLD (pgisaneor UL L gl Cliatr?

351 eremiLigy) “Students like maths”; 197
erenTugl “We are students” opmie 748
cTenLig) “Thev are parents” erafléh “We”
cranugnaTen erer GHUIE
1) 4 2 8
G) 9 4) 5

‘BROTHER’ eramug 86; ‘FATHER’
erenUg) 58 womb ‘SISTER" eremiigl 90
erafley ‘MOTHER’ eremruigy)
(1) 83 (2)
@ 79 )

52

R LIHGEHT BHSTOIF BraT Lisam
&G Hren@ Brige (PhHagL
BRGT aTa@iay rgsdlen 28 -cug HIaT
ThS HITETTE HAGHIDUID ?

(1) emdy (2)
(3) GQecueumi @

Slriger

Ligem
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43. The next figure in the following sequence 43.

of figures is :

[CODE] X [ 1 [14]

GeneumeuanaunilaE HES5STS

QUMD LIL SElenens sremms -

i i A a a Iy
A O ? A | ?
+ o +0o +0o + + + + 0o + 0 + +
A [ A A O A
O v
(1) 2y | 1) (2)
+ + + +
A A A A
O + O +
®3) (4) 3) (4)
3 &

44. The next figure in the following sequence 44.

of figures is :

A D & B
(1) 2)

® A [

5 A [
(3) (4)

® [ [

13

Garaimaiaiapilng SiHS55Ts

QUFHL ULGSHlenans srams.

a O@ @D A
?
A alllal - 4o O
N & o
(1) 2)
© [ A [
G A A [
3 4
©) &  [a ® TR
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45. The next figure in the following sequence 45. Ueanal(heuameundinG AHSSH5TS

of figures is : QU(BHLD LIL SHlenend Srems :
B x = s + R X = o +
" = 4 X _ <+ y b ” l " = " X _ + y g 2
a3 + X = I + X -
g = has =
% x ER x
W | = @ | = W | = @ | »
X -+ % +
@ | + @ | + ® |+ @ |+
o 5 % g
46. (o Allo Ol a Ol e A 46. |O Al Ofl 4 Ol e A
? ?
o s alle Rlla R J = s alle 2m ¥
™ » - ® - ® = ®
(1) 2) (1) (2)
. S s % R , %
A ™ - ® A - ™ ®
© @) 3) 2 (4)
® % A ? ) o § A §

14

Download more model question papers visit www.tnpsctamil.in 12 of 13.




48.

49.

50.
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Find out the word that cannot be 48.

formed by using the letters in the word
“ERYTHROBLAST” :

(1) BLAST (2) BLAME

(3) THEORY (4) ROAST

From the four alternatives only one differs  49.

from the remaining three. Identify it.
Virus

(1) Aries (2)

(3) Aquarius (4) Pisces

. Choose the correct answer for the term  50.

marked by the symbol (?) .

P3, 2, ]9, G12, D15

15

[CODE] X [ 1 [14]

{%E;Qa;rr )l b “ERYTHROBLAST” erend m
GUTTen & ull @lemer T(PEFSHMENE
Qarer( 2 (Beurss (pgwrg Geme
erg ?

(1) BLAST (2) BLAME

(3) THEORY (4) ROAST

Epsrand Lgr@ldd o ereraimdle
ellgglwrsors o emeng ergl ?

{1) Aries (2) Virus
(3) Aquarius (4) DPisces
el @GOl @Lgdle

eurGeuanTiqul er(pSd-ereiT GCHTanal
eTI?

3, 2,19, G12, D15

(1) K6 (2) M6

3) M8 (4) 18
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